5/0

!
S TR T

39.3%inch

©
et
o
(=

7 g © =
— EEY =
- < i
- e =
vl ™ =
i N
i = =

|

gl N =
O ——
28 o =

. &= -
|

reirefmm) =)
"nouegrw 3

mfm!{ﬁ 2 !o 4,0 s’o syo 7'0 atd 9]0 1o|o 11!0

H 2
' YRR §s ,.31 ....... : .. ......... H f‘“ 1 ;A'f». P vd |np

, 3o
SITTLITIT

: 2[0
SHTTHIT

ifg
I )

o

i

mmi
!‘li

T i e teedmin) =0 B dieh
j métre{n’rf:ﬂ%ﬁl inch



il

3|

T

0

|

}
283

2
I

o

i
Hath

!

i
.z s
SRS T

o mml
i;l!

T-mitlim Lvrefm-m) 'O Bi-drieh
b metrefmy39.37

nmyn -.:':bfz

: 3y 1
(3 ..;..’;iz‘i!.g ”;’x L i“ .‘;i;-::": i ; _;5?1-'4

/ #i

ey g S =
v Bl " -
pEand - =
- - ° :z.

e
T

o

ey mmiﬂ*mfﬂmm) O Bi-dpeh
¥ metreim =39 inch

—1-111“} .>:%€a  -¢:ng 4o sjo slo o aﬁ

' $
: ""' RO 4 ..‘.:.--. ! <3 "' ‘35'
TEFTIAT IR S .'. 7373 34 i:‘EQ,‘!!.f i i



